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Q1 Which of the following assumptions is true for armature controlled DC motor?

Ans XA
Torque developed is inversely proportional to armature current.

#< B Field is given variable excitation.
« © Back emf is proportional to speed.

< D Coefficient of friction varies with speed.

Question ID : 95506730
Chosen Option : 1

Q.2

In the given figure, i, = —0.5e72*; v, = 2e7?* andv, = 5e7?' _Findv,
Ans XA. U‘.EE_Zt

< B get

v C p5e2t

K D gg-2t

Question ID : 9550671
Chosen Option : --
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The circuit shown in the given figure represents a/an:

Ans XA decoder
< B equality detector

< C full adder
' O full subtractor

Question ID : 95506754
Chosen Option : 1

Q4  Which of the following is NOT true with reference to microprocessors?

Ans XA

Control unit controls the operation of the internal on-chip circuitry.
/X B 8-bit microprocessors can transmit an address of 16-bit.
«' ¢ Microprocessors don’t have an off-chip memory.

#< D- They contain tri-state output pins.

Question ID : 95506765
Chosen Option : 4

Q5 The costs created from the effort to reduce poor quality are called:
Ans XA external failure costs
/B internal failure costs

< C appraisal costs

' prevention costs

Question ID : 95506790
Chosen Option : 2
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Q6  General Purpose Interface Bus (GPIB) has a typical maximum speed of:
Ans A 12 Mbits/s

B 10 Mbits/s

X C- 115 kbits/s

V' 0 1 MBis

Question ID : 95506784
Chosen Option : 1

Q7 A 5-bit binary counter starts with 00000. Determine the count after 144 input pulses.
Ans  of A 10000

< B 10100

X ¢ 10101

0. 01001

Question ID : 95506756
Chosen Option : 4

Q8 Which of the following options is NOT an example of servomechanism?
Ans A Automobile power steering
7< B Machine tool position control
' ¢ Manual speed control

#< D- Missile launchers

Question ID : 95506726
Chosen Option : 1

https://cdn.digialm.com//per/g 01/pub/1139/touchstone/AssessmentQPHTMLMode1/LMRCL201/LMRCL201S3D651/15797771468054072/13092800057_LMRC... 3/42



1/25/20  https://cdn.digialm.com//per/g01/pub/1139/touchstone/AssessmentQPHTMLMode1/LMRCL201/LMRCL201S3D651/15797771468054072/13092800057_LM...

Q.9
F*= 10V
Ry = 2 kil
Re = 1 kf}
Vo= =10V

In the given figure, find Iz ( B = 100).
Ans XA 0.5 mA
&< B 0.02 pA
v © 0.05mA
X P 014 pA

Question ID : 95506719
Chosen Option: 3

Q10 Which of the following statements is INCORRECT?

Ans ( A
Similar to the MOSFET, the IGBT has a low impedance gate.

X B.
Similar to the MOSFET, the IGBT has a high impedance gate.
#< C Like the BJT, the IGBT has a small on-state voltage.

/5 D.

Similar to the GTO, the IGBT can be designed to block negative voltage.

Question ID : 95506779
Chosen Option : 1

Q.11 For the same firing angle, the load voltage in the discontinuous conduction mode compared to the continuous
conduction mode of operation, will be:

Ans X' A conpstant
< B lower
/X C. zero

' O higher

Question ID : 95506775
Chosen Option : 1
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Q12

Ans

— 1 ” -H1
i NI VO) v [
p - . r :

For the system shown in the given figure, the error voltage (E) is given by:

XA' Vg +(Vt %2 )

R;+R.,

B. R
V,—2— )
" (tR1+R2

v . L (Vt R::ZRZ)
s Ve —V;

Question ID : 95506727
Chosen Option : 3

Q13

Ans

Find Vg if the circuit (in the given figure) has to operate at the edge of
saturation (Use Vg = 0.7 V and § = 50).

K AL125V
KB 412V
Vv C 264V
KD 358V

Question ID : 95506718
Chosen Option : --
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Q14 Shape of a Lissajous figure depends on the:
Ans A length of the deflection plates

#< B amplitude of the two waves only

#< C area of the deflection plates

« P amplitude, phase and frequency of the two waves

Question ID : 95506746
Chosen Option : 4

Q.15 Select the FAL SE statement with respect to variable frequency operation control strategy in DC-DC converters.

Ans  of A Very small OFF time makes load current continuous

/< B Large OFF time in frequency modulation technique
& C Difficult filter design
#< D Possibility of interference

Question ID : 95506777
Chosen Option : 2

Q16 The distortion factor for a 3-phase fully controlled bridge rectifier is:
Ans XA (m/3) cosa

/< B. cosa

v 3/m

< P (3/m) cosa

Question ID : 95506774
Chosen Option : 1
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Q17
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The control system illustrated in the figure is an example of a‘an:
Ans  of A man-machine control system
#< B closed loop control system
#< C automatic closed loop control system

7< P- open loop control system

Question ID : 95506724
Chosen Option : 4

Q.18 Astep input of 4 A is applied to an ammeter. The pointer swings to 4.18 A and finally comes to rest at 4.02 A.
Determine the:
a) overshoot of reading in ampere and in percentage of final reading

b) percentage error in instrument

Ans XA a)0.12 A, 3.7% b) 0.4%
< B a)0.l14A,3.8% b) 0.3%
¥ a)0.16A,3.98% b)0.5%
<P a)0.16A,3.2% b) 0.4%

Question ID : 95506762
Chosen Option : --
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Q.19

R L

Voo == % ¥

For the circuit shown in the given figure, determine Iy, if Vop=35 Vand R = 1 k.

Assume that the diode has a current of 1 mA at a voltage of 0.7 V and uses the ideal-diode model.

Ans X A 4.3 mA
X B 4mA
v C 5mA
XD 24mA

Question ID : 95506712
Chosen Option : 1

Q20 RrfRfld & & P & H9ft F T 0TEcar TG F AT FIA P BRI AL 37
M AT e F YEE 3EE i TgET R

r :

ST A ST 3 U 1 WHEAT % S F AR S @ e e A o s & a

T # qur g ¥

X oea & F & T HET S g S

/5 D.

TMESF AT F FH A & HFTU HT TgIT AT

Question ID : 95506788
Chosen Option : 2

Q.21 The resistance of a wire, 1 m long and of 1 mm? cross section, is 1/58 Q). Thus, the resistance of a 2 m long. 0.5 cm
thick copper tube with an external diameter of 10 cm will be:

Ans XA 18.61 pQ
KB 23140
< C 18610
0 23140

Question ID : 9550673
Chosen Option : --
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Q22 The number of registers and flags in 8086 are:
Ans  of A thirteen 16-bit registers and 9 flags

< B fifteen 14-bit registers and 8 flags

< C twelve 14-bit registers and 7 flags

< D- eleven 8-bit registers and 6 flags

Question ID : 95506770
Chosen Option : 1

Q23 AT U in a microprocessor executes:
Ans A a few arithmetic instructions only
#< B all arithmetic instructions only

« © all arithmetic and logic instructions

#< P all arithmetic and few logic instructions

Question ID : 95506764
Chosen Option: 3

Q.24 Find the frequency of sustained oscillation (in rad/sec) for the system s* + 953 + 11s2 + 65+ k =0

Ans XA (.14 rad/sec
#< B- 0.36 rad/sec
v C. 0.82 rad/sec
# D 0.22 rad/sec

Question ID : 95506748
Chosen Option : --

Q.25 For a copper wire with circular cross section (diameter = 1.03 mm) with resistivity = 2.5 x 10~*0Q/m,

concentration of free e™= 8.4 X 10%%*/m® and current density = 2.1 X 10°A/m?, determine the

mobility of electrons.

Ans o A 3567 X 1073m?/V — sec
X B 467 x 1072m?/V— sec
X © 2173 x 10~°m?/V— sec
X P 1542 x 10™*m?/V— sec

Question ID : 95506711
Chosen Option : --
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Q26 A decoder having an enable input is termed as:

Ans 2 A enabled-decoder
< B selective decoder
< C- decoder-converter
v 48 decoder-demultiplexer

Question ID : 95506751
Chosen Option : 1

Q27 nterrupt OUT Transaction in USB 2.0 functions when:

Ans x A

the host sends an IN token. the function responds with a DATA packet, and the host acknowledges

#< B the host will periodically poll the interrupt endpoint
« © the host wants to send the device interrupt data

#< D- the polling rate is specified in the endpoint descriptor

Question ID : 95506782
Chosen Option : --

Q28 wWhich of the following is NOT true of a limit cycle?
Ans XA Easily recognised in the phase plane.
' B Oscillation peculiar to linear systems.

#< C Characterised by constant amplitude and frequency.
/5 D.

Amplitude of oscillations independent of initial conditions.

Question ID : 95506733
Chosen Option : --

Q.29 Amass m=20 kg is at rest on a horizontal plane with viscous friction coefficient B = 40 N-s/m, as shown in the Fig.

below:

ity
400

™=
Fio FuA) b
s ’

0 o1 ¢ Yror™ 0

A short impulsive force of amplitude 400 N and duration 0.01s is applied. The system time constant will be:

Ans XA | sec
#< B 2 secs
< C 5 secs
' 0. 0.5 secs

Question ID : 95506735
Chosen Option : --
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Q.30 For a varactor diode with diffused junction at reverse bias voltage of 7.3 V, if the junction potential is 0.7 V and
transition capacitance is 40pF, then the constant K will be:

Ans JA. 80 x 10-12
< B 40 x 10710
< C 64 x 10714
X 0200 102t

Question ID : 95506715
Chosen Option : --

Q.31
Dy
D, >0—| g
Dy I
L :
T, 5
DI:I rL_.-/

The logic shown in the given figure works as:
Ans X A decoder
#< B binary to XS-3 converter
o' C priority encoder

7< P binary to gray converter

Question ID : 95506752
Chosen Option : 2

Q32 The most suitable material for manufacturing of LED is:
Ans X A IgZD

X B ZnP

X C Zno

W D GaAsP

Question ID : 95506716
Chosen Option : 4
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Q33 TMP addrlé6 is a:

(Note: addr16 is any 16 bit address)
Ans XA 2-byte instruction

#< B 1-byte instruction

« © 3-byte instruction

< P- 4-byte instruction

Question ID : 95506769

Chosen Option : 3

Q.34 | B, | B,

B, | B,

555 5]

For an 8237 control word format as shown in the figure, the bit(s) used to read/write/verify transfer is/are:

Ans x A Bi and Bﬂ

# ° Only By
« ¢ Only Bs
( D Bz and B3
Question ID : 95506767
Chosen Option : 4
Q.35 1_,.%" g
Vi “D :il.
b

In the given figure, find the current in s-domain if L = 25 mH, R = 1000 €2 and circuit is subjected to 50 V step input.

Ans A 0_05
G
s—4 x10¢
BB
5+ 4
€ 0.05
y A i
5
P 0.05 0.05
v 4 =
S s+4 x 104

Question ID : 95506728
Chosen Option : --
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Q.36 Which of the following options is the correct sequential order of a four-level model of the evolution of quality
management?

Ans XA

1-Quality Assurance 2- Quality Control 3- Total Quality Management 4- Inspection

/X B

1-Quality Assurance 2-Total Quality Management 3- Inspection 4- Quality Control

p e

1-Inspection 2- Quality Assurance 3- Quality Control 4- Total Quality Management

¥ 4ok

1-Inspection 2- Quality Control 3- Quality Assurance 4- Total Quality Management

Question ID : 95506787
Chosen Option : 4

Q.37
i f—
1 %
| 2-—/
1=y IxXB
i = decoder 4

Fa
(]
=]
=i o L

The circuit shown in the given figure represents a/an:

Ans X A fi]] subtractor
X B equality detector

< C inequality detector
v 0 full adder

Question ID : 95506753
Chosen Option : --

Q38 A vibration galvanometer is used as a detector in a:
Ans  of A high voltage Schering bridge

#< B low voltage Schering bridge

#< C Wheatstone bridge

7< D Maxwell bridge

Question ID : 95506745
Chosen Option : 1
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Q39 Operating modes of 8255A are:

Ans XA

mode 0 — advanced input/output, mode 1 — strobed input/output, mode 2 — unidirectional data bus

v 4

mode 0 — basic input/output, mode 1 — strobed input/output, mode 2 — bidirectional data bus

xc.

meode 0 — control input/output, mode 1 — strobed input/output, mode 2 — basic data bus

75 D.

meode 0 — basic input/output, mode 1 — control input/output, mode 2 — strobed data bus

Question ID : 95506766
Chosen Option : 2

Q.40 A 1-mA meter movement with internal resistance of 100 Q is to be converted into a 0-100 mA ammeter. Calculate the
shunt resistance required and specify particulars of the shunt.

Ans  of A 1.0Q, 100 mA or 1.0 Q, 100 mV
A B 1.0Q, 150 mAor 1.0Q, 100 mV
A C 1.5Q, 100 mAor 1.0 Q, 100 mV
A<D 1.50Q, 100 mAor1.5Q, 100 mV

Question ID : 95506743
Chosen Option : --

Q41 Which of the following options is a 3-terminal majority carrier device?
Ans XA BIT

/< B Thyristor

v C JFET

X D. IGBT

Question ID : 95506780
Chosen Option : 3

Q.42 Bevond a certain temperature, for insulators the forbidden gap can be crossed when dielectric strength of solid breaks
down under:

Ans XA low voltage
< B low pressure
< C high pressure
' O high voltage

Question ID : 95506734
Chosen Option : 4
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Q.43 For a particular circuit base. current = 14.46 PA, the emitter current = 1.460 mA, and the base—emitter voltage = 0.7 V.
Calculate the saturation current.

Ans  of A 10-1547
< B 107104
< S 107124
<D 10711A

Question ID : 95506717
Chosen Option : --

Q.44 What value would come in place of the question mark (?) in the given equation?

(173.513)19=(?)g
Ans  of A 2554065
< B 2114214
< C. 231.4065
< D. 255.0101

Question ID : 95506749
Chosen Option : 1

Q.45 Calculate the number of electrons that pass through the cross section‘hour of the filament of a 60 W bulb which has a
current of 0.5 A flowing through it (in electrons / hour).

Ans XA 31 % 1072
X% x 1088
X% 31x 108
v 1 x 102

Question ID : 9550672
Chosen Option : --

Q.46 Determine the average emf induced in a coil of 200 turns wound on a magnetic circuit having reluctance 2000 AT / Wb,
if a current of | A flowing in the coil is reversed in 10 ms.

Ans XA. 6V
Ve 4v
Xcilov
XD 2y

Question ID : 9550674
Chosen Option : --
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Q47

mvm— '

In the circuit shown in the given figure for a full load current of 10 A, source loading occurs at what value of resistance?
Ans XA R0)
X8 7Q
XC 40
'O beyond 9 Q

Question ID : 9550677
Chosen Option : 4

Q48 FElectric field is zero:

Ans XA at the edges of a conductor

' B. within a conductor
< C. within an insulator

#< D- at the surface of a conductor

Question ID : 9550679

Chosen Option : 3

Q49 The loop T states are:
LXIB, 2384H
LOOP: DCXB
MOVA,C
ORAB

INZ LOOP

Ans XA. 08
< B. 35
X C 92
WD 24

Question ID : 95506763
Chosen Option : --
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QS0 oy ATI JUTST F Iger TIOT F F T H ST AT T
Ans x A >
FHTALOT =0T
B. .2
X ° guF =T
C.
X © BfSes T
D_ +
v BeeRTgrasgaET =T

Question ID : 95506757
Chosen Option : 2

Q.51 When the main purpose of a control system is to reject disturbance effect and desired value of controlled output is
almost fixed, such a control system is also called a:

Ans XA tracker
' B regulator
< © manipulator

< D rectifier

Question ID : 95506723
Chosen Option : 2

Q.52 For the circuit shown in the given figure, find the value of R so as to obtain an output voltage of 2.4 V.
(Assume diodes have a drop of 0.7 V at 1 mA.)

+10V

Ans XA 220 Q
X B 190Q
Xci1zo0
VD 1390

Question ID : 95506713
Chosen Option : 3
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Q53 A PWM inverter can producing output voltage as:
Ans  of A variable in magnitude and frequency
< B fixed voltage. fixed frequency

#< C wvariable voltage, fixed frequency

< D fixed voltage, variable frequency

Question ID : 95506772
Chosen Option : 1

Q.54 When a rubber test sample is subjected to an increase in ambient temperature:
Ans 3 A there is decrease in conductivity
7< B there is no change in volumetric resistance

& C. volumetric resistance increases

o' O volumetric resistance decreases

Question ID : 95506738
Chosen Option : 2

Q55 SHI code in GPIB capabilities functions as:
Ans XA basic talker

+ © source handshake capability

#< C acceptor handshake capability

#< D. basic listener

Question ID : 95506785
Chosen Option : --

@56 Which of the following options is a thermosetting polymer?
Ans XA PY(C

< B Nylon

& C. Teflon

v 0. Bakelite

Question ID : 95506737
Chosen Option : 4
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Q.57 The inductor of the buck-boost converter, in a flyback converter, has been replaced by a:

Ans XA flyback capacitor
< B flyback transistor
W' © flyback transformer
7< D- flyback resistor

Question ID : 95506778
Chosen Option : 4

Q.58 The gain-bandwidth product, thermal stability and relation between input and output of an FET as compared to a BIT is,
respectively:

Ans XA high, low, linear
5 B low, low, non-linear
< C low, high, linear
' O low, high, non-linear

Question ID : 95506721
Chosen Option : 4

Q59 The most expensive category of quality costs is:
Ans A prevention costs

# B internal failure costs
#< C appraisal costs

W' O external failure costs

Question ID : 95506789
Chosen Option : 4

Q.60

+
R(s) | 79 C(s) — E(s)

For the figure given above if, T(s) =
Ans X' A )
#< B infinity
X C 1
D. 1
v 3

————and R(s)= = , then the steady state error will be:
s°+7s5+ 10 L4

Question ID : 95506722
Chosen Option : 4
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Q.61 The element which manipulates the signal presented to it, preserving the nature of the original signal is the:
Ans XA fixed manipulator
& B variable conversion element

« © wvariable manipulation element
& D fixed converter

Question ID : 95506758
Chosen Option : --

Q.62 Which of the following statements is INCORRECT in respect of a processor-memory bus?

Ans X/—\

Matched to the memory system to maximize the memory-processor bandwidth

#< B short and high speed
#< C Optimised for cache block transfers
' O Is usually lengthy and slower

Question ID : 95506786
Chosen Option : 2

Q.63 Aseparately excited 220 V, 10A, 1000 RPM dc motor with armature resistance of 2 € is supplied from a 230V, 50Hz,
single phase supply through a fully controlled bridge converter. So. the no-load speed of the motor will be:

Ans XA 1000 RPM
< B 1500 RPM
v C 1626 RPM
< D. 1226 RPM

Question ID : 95506776
Chosen Option : --

Q.64 The coil of a moving coil voltmeter is 40 mm long, 20 mm wide and has 100 turns on it. Control spring exerts a torque
of 220 X 107°N-m when the deflection is 100 divisions on full scale. If the flux density of magnetic field in air gap is

1.0 Wb/m?, then estimate the resistance to be put in series with coil to give one volt per division. (Neglect coil
resistance)

Ans XA 40 kO
v B 3636 ki
< C 50k0
< D 20Kk0

Question ID : 95506742
Chosen Option : --
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Q65 The disadvantage of using a bridge rectifier configuration is its:
Ans XA rectification efficiency

< B lower number of turns in secondary

«' © increase in total voltage drop

< P smaller power transformer

Question ID : 95506714
Chosen Option : 3

The given gate represents:
Ans XA positive logic OR
/< B positive logic NAND
« © negative logic OR
< P- negative logic XOR

Question ID : 95506750
Chosen Option: 3

Q67 FETs are preferred in amplifiers for their:
Ans  of A high input impedance

/< B small size

< C temperature dependence

7< P- unipolar nature

Question ID : 95506720
Chosen Option : 1

Q.68 A coil has a mean area of 200 cm? and the number of turns is 1000. It is held perpendicular to a uniform field of 0.2
Gauss and turned through 180° in 1/10 second; the average induced emf will be:

Ans KA 23V
XB2v
K C 125V
v D 008V

Question ID : 9550675
Chosen Option : --
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Q69 Which of the following statements is true?

Ans A Dead zone in a graph signifies linearity.

X B
A linear system does not satisfy the superposition property.

vc

If a differential equation describing the system has constant coefficients, then the system is linear.

#< P Most of the physical systems are non-linear systems.

Question ID : 95506725
Chosen Option : --

Q70 Tnactive time for RS-232 frame format is:
Ans XA + 12V logic level high

W' B —12V logic level high
< © =5V logic level high
< P-4+ 5V logic level high

Question ID : 95506783

Chosen Option : 1

Q7 I(s) = %V[S) is the current passing through a series RC circuit. Find initial value of current if R=3M Q, C=1

R F and supply is 100 V step voltage

Ans o A 3333 A
< B 2868 pA
X C 26.67pA
X D 1426 pA

Question ID : 95506729
Chosen Option : --
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Q72 0,

/

The given figure represents:
Ans A jump resonance
v & Backlash
X C Linearity

< P limit cycle

Question ID : 95506732
Chosen Option : 4

Q.73 With respect to the flux shown in the figure, select the correct option corresponding to a, b and ¢, respectively.
D G G
i) ® i

Ans XA Diamagnetic, paramagnetic and ferromagnetic

/< B Paramagnetic, ferromagnetic and diamagnetic
« © Ferromagnetic, paramagnetic and diamagnetic

#< D- Paramagnetic, diamagnetic and ferromagnetic

Question ID : 95506739
Chosen Option : 1

Q.74 cCalculate the drift velocity of electrons for an n type Si having length of 5 cm and circular cross section
of 10 mm? when it is subjected to a voltage of 1 V across its length. Current flowing through it is 5
mA. Assume charge of e” = 1.6 X 1072 and mobility of e~ = 1300 cm?/V —s.

Ans  of A 26m/s
XB 12m/s
X C 64m/s
AP dam/s

Question ID : 95506710
Chosen Option : --
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Q.75 The peak value of the line voltage in case of 120 ° mode of operation of a three-phase bridge inverter is:
Ans x A Vs ;3

J B. Vs

X ¢ 2v./3

x D. Vs fz

Question ID : 95506781
Chosen Option : 3

Q76 What is the number of T-states required to execute the following instruction?

ILHID addrlé

(Note: addrl6 is any 16-bit address)
Ans XA 10T

X B 6T

X C T

v 0 13T

Question ID : 95506768
Chosen Option : 3

Q.77 A moving coil voltmeter has a uniform scale with 100 divisions, the full scale reading is 300 V and 1 / 10 of a scale
division can be estimated with a fair degree of certainty. Determine the resolution of the instrument.

Ans XA. 02V
XB 04V
XCosVv
VD 03V

Question ID : 95506759
Chosen Option : 4

Q.78 For a magnetic material, when majority of domains get aligned, the material is said to be:
Ans XA linear

v B saturated

& C corrected

< D rolled

Question ID : 95506740
Chosen Option : 2
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Q.79 Ahighly sensitive galvanometer can detect a current as low as 0.1 nA. This galvanometer is used in a Wheatstone
bridge as a detector. Each arm of the bridge has a resistance of 2 k€. The input voltage applied to the bridge is 20 V.
Calculate the smallest change in resistance which can be detected.

Ans XA. Sﬁl.lﬂ
K< B 20 pu0
2K C 40 pQ
' P 800

Question ID : 95506744
Chosen Option : --

Q80 1 8086 addressing when BHE and A, are 0 and 1, respectively, what is read/written?
Ans X A Ope 16-bit word

« B 1 byte from/to odd address

#< C Nothing is read/written

#< P- 1 byte from/to even address

Question ID : 95506771
Chosen Option : 4

Q.81 : ¥
In the given figure, find =2

¥z
6 =

Vi 1 B & on G5 Tml -
Ta
Sl
—H,

As A GGLENG— G6H;
1+ G,H, + H, + G,H,H,

N O oy B
T—GyH, £ H, £ G HLH,

GG 666 6 6B (1 +6,1L)

1+ GzH, + H, + G.H,H,

D. G666+ GG {1 H G

1+ G,H, + H, + G,H,H,

L« X X

X

Question ID : 95506731
Chosen Option : 2
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Ans

< A power coil

< B current coil
< C. meter coil

' D pressure coil

Q82 The moving coil in an electrodynamometer wattmeter is called:

Question ID : 95506741
Chosen Option : 4

Ans

A
x< L[1 + cos a)

J(m—a)

B.
F icos a
(mr—a)
C.

v ——(1+cosa)

AT — a)
D.

KX ——cosa

(M — a)

=

I~

Q83 The power factor of a single-phase half controlled bridge converter is given as:

Question ID : 95506773
Chosen Option : --

Q.84

Ans

Calculate the precision of 374 measurement from the data given below:

Measurement no. | Value
48
50
51
49
5 48

K< A 95.46%
&< B 96.40%
W C 96.34%
# D. 95349

Ju || B —

Question ID : 95506760
Chosen Option : --
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Q.85

Shift Lb S 50

control Shift register A
CLK

Serial
i ] 50|

t ¥ I
o +—>| Shift register B :Di

In the given figure, what will be the binary value in register A after two shifts for the serial adder

which uses two four-bit registers? Register A holds the binary number 0101 and register B holds 0111.
The carry flip-flop is initially reset to 0.

Ans XA 0010
v & 0001
# C 1000
< D 1100

Question ID : 95506755
Chosen Option : --

Q86 The efficiency of a lead acid cell does NOT depend on the:

Ans XA internal resistance

< B rate of charge and discharge

o C. pressure

/< D- temperature

Question ID : 9550676
Chosen Option : 3

Q87 The composition of constantan is:

Ans  of A Cu=60% and Ni=40%
/X B Cu=43%, Ni=17% and Mn = 40%
25 C sn=23.43%, Cu=43.67% and Ni=32.9%
#D- Mn = 65% and Zn = 35%

Question ID : 95506736
Chosen Option : 3
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Q.88 The method in which the test instrument is compared with the response of a standard instrument of the same type is
called:

Ans XA standard calibration methodology

' - indirect comparison calibration methodology
#< C comparative calibration methodology

#< D direct comparison calibration methodology

Question ID : 95506761
Chosen Option : 1

Q89 For the given Lissajous figure, find the phase difference.

Ans XA 44.64°
X B 2767°
v 5313°
K D 2656°

Question ID : 95506747
Chosen Option : 1

Q.90

Determine the power supplied by the dependent current source.

Ans  of A 17832 W
KB 12037W
XC 2124W
KD 1412 W

Question ID : 9550678
Chosen Option : --

Section : Quantitative Aptitude & Logical Ability
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Q.1 If*+ means “divided by’, *—" means ‘add", *»” means ‘minus’ and ‘=" means ‘multiplied by’, then what will be the value
of the following expression?

[((22x12) +3}+ (3-N]/2
Ans XA 4
v B
X c
X D.

[ R s B o}

Question ID : 955067105
Chosen Option : 2

Q2 1f A3 + B? =200 and AB = 13, the value of A+B is
Ans XA G

X8 7

Ve

XD 5

Question ID : 95506797
Chosen Option : 3

Q.3 Select the number that can replace the question mark (?) in the following series.

5, 10, 30, 120, 600, 7
Ans }( A 2400

< B 1800

< C 4000

V' D 3600

Question ID : 955067102
Chosen Option : 4

Q4 100 #HieX =g arel U clax o MY &, gy 1 IR 3= arell FR F1 G871 Fio7 10
Tehs A 30 TSl 4 Fcerd 60 TSI g1 ST 81 R & arel o9sar _ km/hr Bl

Ans XA 30

< B 80

< C 20

V0 40

Question ID : 95506799
Chosen Option : 1
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Q5 3o X ¥ Y 3% = TR AFw 225 ¥ AR 9 9% TrefRe gew w25 e # oge & Fw
a1 T 80 IS H OHET FAT FET?

Ans XA 2000
v 5 1500
X C 1050
X D 1250

Question ID : 955067101
Chosen Option : 2

Q6 o =, A 3k B ¥ v & AT W vH-gEy AT T YT FEr &, @ AB = 50 km ¥ F v @
éamna;{ﬂ'ta;‘rwrﬂ?fr%lAﬂaﬂﬁaﬁ@rmﬁmswﬁaﬁﬁ,mﬁrsﬁmmﬁrm
%mAwﬁaﬁﬁgmsiedﬁmmmﬁlA@mmﬁrmaﬁm km/hr
gl

Ans XA 20
< B 15
< C 25
v'D 30

Question ID : 95506796
Chosen Option : --

Q7 FeET v # 97 weg Gr ow £ omd & &9 o wor & gog €S9 St e &) e
g F =TI FHifFT)

Ans XA. m
X B | T
X ar

v " fEToT

Question ID : 955067110
Chosen Option : 4

Q8 2 godt #r fy=me 5 v 6 & Y 3 FE F I Hr gf 10 &1 S gear WS o1 TR A
Serafacs T8 LWt T gEa Thaer 37

Ans XA 4
xe3
X1
v 2

Question ID : 95506798
Chosen Option : 4
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Q9 MR N, 0% 9%F & F =% gt 3w &1 M 3 N & Faer § =eaw A 5oy, oes fe e
23MSN, 12 & woiear = g1

Ans XA2.}ﬁT2
<5230
vz
<>o03ko

Question ID : 95506791
Chosen Option : 3

Q10 o= 3t 2are FoAw: 5 A 3R 4 T F B F A v @ F #d 81 8 7 F aw, uH
21 o e oar ¥ 3l A 2 o F Py F 91y cuauw F WY T 2 99 ¥ g H e
£2,80,000 ¥ o & Hgd & fgEar 9 Sfaw|

Ans XA 328,000
v © 220,000
« © 214,000
« P 224,000

Question ID : 95506793
Chosen Option : --

M 1 afe 2025 F FiT T BT e
Ans XAIﬁEﬂ_{

v ° FEreE

X ¢ quER

X P grmEr

Question ID : 95506792
Chosen Option : 2

Q12 guEw, 3= B & T § 99 i 6K 400 m 33 B 3@ 9 6T FqF T 400 m 330 sEE A
agﬁﬂﬁmésmaﬁraﬁTZOOmH[ﬁwﬁagaémmaﬂ?ml)magﬂmmqﬁ:ra:ﬂmﬁ
& 37 B @ e B2

Ans XA I=OT
v© g
X ofdas
XD.E@_

Question ID : 955067108
Chosen Option : 2
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Q.13 The given table shows the number of students from five different universities, A, B. C, D and E. who have volunteered
at a blood donation camp over 5 months.

niversities| A | B C | D|E
Months
January 300| 500 | 250|410 350
February 400 | 400 | 280 | 500 | 430
March 450 | 360 | 240 | 450 | 320
April 500|300 | 400 | 320 | 450
May 430|440 | 540|500 510

The number of students who volunteered from university B in February is what percentage (approximate) of the total
number of students who volunteered from university B for all the 5 months together?

Ans XA 10%
o B. 20%
< C. 259
< D. 30%

Question ID : 955067103
Chosen Option : --

Q.14 fader @9 & 7 FEFEd wEgEE 98 A e v wea w1 oser 8

TFRATLMN OFTPH s HHAF I L FT o M & 0 &, Sfrd P @ &R &1 O &7 9517 a9 N @ sl
21 Torasr a5 30 kg &, 3HST o & welt H @ @A &1 M &1 g=it 15 kg 21

58 O e 9o "wad: 20 kg 22

Ans XA. P
KB N
Ve L
KD O

Question ID : 955067104
Chosen Option : 1

Q15 A wF & # 20 & F qU #T &Far g1 A 3R B v wry P 368 w9 15 A F o
THEIE aMA B IR CHE I TR T ORI TR s § ATA MR C = oy Ba &=
7 FE F A R F o W omw

Ans XA 13
vE 12
< C 11

X0 14

Question ID : 95506794
Chosen Option : 2
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Q.16 3¥ faFed &1 9a=T &, SEFT ‘Deer’ & @rer agl Gaer §, ST ‘Man’ &1 ‘Child” & §1
Ans x A DDE

W B Fawn

X € Cub
/< D- Stag

Question ID : 955067106
Chosen Option : --

Q.17 Ina certain code language, “WITCH' is coded as “126°. How will “WIZARD" be coded as in that code language?
Ans XA 180

X B 154

v 162

X D. 178

Question ID : 955067107
Chosen Option : 3

Q.18 Select the Venn diagram that best represents the relationship between the following classes.

Physics, Chemistry, Science
Ans A

Question ID : 955067109
Chosen Option : 4
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Q.19 uiEw A v ¥ @ 40 U H 5T WFAT 21 UET A 3 B e 50 24 9 A o wEa ¥ v mE ¥
aam:r,Béﬁaﬁaod%ﬁmm%lmﬂmﬁﬁgvhaamd%ﬁmmm%?

Ans XA 260
v B 240
X ¢ 220
X D200

Question ID : 95506795
Chosen Option : 2

Q20 FIT N F I, CAR S T A T F RN Y S ITAF W 2o A w+
0T 3iafT A B

Ans ?(A w4
< B 2n/3
v C /3
KD /2

Question ID : 955067100
Chosen Option : 1

Section : General English

Q1 Select the most appropriate option to fill in the blank.

Visitors are required to about who they want to meet.
Ans  of A inform us

< B informed

/< C inform

#< D- informing

Question ID : 955067114
Chosen Option : 3

https://cdn.digialm.com//per/g 01/pub/1139/touchstone/AssessmentQPHTMLMode1/LMRCL201/LMRCL201S3D651/15797771468054072/13092800057_LMR...  34/42



1/25/20  https://cdn.digialm.com//per/g01/pub/1139/touchstone/AssessmentQPHTMLMode1/LMRCL201/LMRCL201S3D651/15797771468054072/13092800057_LM...

Q.2

Ans

Select the option that expresses the given sentence in passive voice.

The government is planning a new tax on services.

KA

A new tax on services are being planned by the government.

X B

A new tax on services is being planning by the government.

5 C
A new tax on services was being planned by the government.
WD

A new tax on services is being planned by the government.

Question ID : 955067112
Chosen Option : 1

Q3

Ans

Select the most appropriate meaning of the underlined idiom in the given sentence.
We come from different departments but now we are all in the same boat.

o~ facing the same unpleasant situation

#< B having to row together

< C forced together

< P going to a new destination

Question ID : 955067118
Chosen Option : 1

Q4

Ans

Parts of the following sentence are given as options. Identify the part that has an error.

Sam may not to join the selection committee after all.
/< A the selection committee
' B to join
/< C- Sam may not
/< D after all

Question ID : 955067111
Chosen Option: 3
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Q5 Select the option that can be used as a one-word substitute for the given phrase.

A person who studies the buildings and objects of people whe lived in the past
Ans o A an archaeologist
/< B asociologist
/< C- a historian

#< D- an anthropologist

Question ID : 955067120
Chosen Option : 1

Q6 Select the option that expresses the given sentence in indirect speech.

Amir asked me, “Why didn’t you answer the phone?”
Ans A Amir asked me why I didn’t answer the phone.
#< B Amir asked me why I haven’t answered the phone.
« © Amir asked me why I hadn’t answered the phone.

#< D Amir asked me why I answered the phone.

Question ID : 955067113
Chosen Option : 3

Q.7 Pauts of a sentence are given below in jumbled order. Arrange the parts in the right order to form a meaningful sentence.
like/ like/ brothers/ strangers/ get/ together/ together/ but/ work
Ans X A
Strangers get together like brothers but like work together.
W B
Get together like brothers but work together like strangers.
p
Like brothers work together but get like strangers together.
/5 D.

Together get like brothers but together work like strangers.

Question ID : 955067119
Chosen Option : 2
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@8  Select the correctly spelt word.
Ans XA beggining

' B beginning

#< C- biginning

< P begining

Question ID : 955067117
Chosen Option : 4

Q9 Select the most appropriate synonym of the given word.

MARVEL

Ans XA jgnore
< B ordinary
v C wonder
# D normal

Question ID : 955067115
Chosen Option : 3

Q10 Select the most appropriate ANTONYM of the given word.

NEAT
Ans XA arranged
#< B meticulous
« C. messy
< D- tidy

Question ID : 955067116
Chosen Option: 3

Section : General Awareness
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O o FfEE F SeAEeT % AR, SRA TE
e XN A e o fARYE TSI TORST

A5 AT S IR

X © e, T W TR

v T TESEE a9 PARYET SeaiiNe AURea

Question ID : 955067125
Chosen Option : 1

Q2 et & RRwr 2019 # Fadh & T TE et UF T TEER § FEAAT R TaT?
Ans A 33 sremfeom

K5 S T

v © e i

K0 Erar Al

Question ID : 955067134
Chosen Option : 3

Q3 Fer-fider 2019 & 3 & ST 9w B Tie, 3098 (STEL) o & T &7
gEfea @ o

Ans  of A 4 B9
< B 54%
X ¢ 57%
X P 6.2%

Question ID : 955067140
Chosen Option : 1

Q4 Which of the following rivers does not flow through Punjab?
Ans XA Sutlej

+ 5 Yamuna

< C Ravi

& D JThelum

Question ID : 955067128
Chosen Option : 2
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QS5 2018 & FwadTES W g o7 w0 & AT F F TRAS A4 § FA T OAST T 2023 F
TE T T TH EAHE S ASER HEm?

Ans «A. 3_.“%!3“
X ° affears
X © offgs T
K° ot

Question ID : 955067136
Chosen Option : 1

A8 3eel wdT 7 RER AHE 9 6RT F a Te & By 2
Ans XAW

X ° FwaAEEs

o C TFFEH

X P AT weer

Question ID : 955067129
Chosen Option : 3

Q7 2001 &Hr FAIUET F HTAR AT FFEEAT I AT T ST I@T g2
Ans XA. ﬁE.IT

S rd-r-+ )

X o FERTSE

X P Fem gder

Question ID : 955067131

Chosen Option : 2

Q8 Ra THR 2019 & 30 % S8 ¥ foh0 TEtae &7 39sa (fow) § s Rederd & gt
51% ¥ T &l FT ST FT W@ 87

A XM T v % (TErame)
v ° EftTe sToer et (3.
X ¢ Rgra= wRAesw f#es (Ta.gTe)

KO T HgEOE U e Fee (SR

Question ID : 955067123
Chosen Option : 2
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W TtlE & § FiF @ g T FEE 9E ¥ Fahg 87
Ans «A. ﬁﬁ'ﬂT ﬁﬁ.

K 5 derg g

X C e Ay

X D eRE AT

Question ID : 955067135
Chosen Option : --

Q10 e & o Wi W R F= & v ffer @R caw & w6 § gons o8 dowt S smen &
ATH T 9T?

e KN ad gdunfas geRee
X ° wafew wEES
v © TierAe §EReE
X e fenfe geRes

Question ID : 955067139
Chosen Option : 3

U =l @ w9 @ e C w7 s=er d99 76
as AT

AT e oy

X © % fOrmer @Y (Green pepper)

X7 wel

Question ID : 955067127
Chosen Option : 1

W o=ffET F ¥ Fi9 = 9tE Fuw a0 27
e A g araT

A5 aftg shmae Sl

v " e mER

X" Oftq FAR e

Question ID : 955067121
Chosen Option : 3
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Q13 == @ Trm diae & IO gea F WA FUAE & HUR W SOSTeNd e are dEd @
Rrerfaa Hr?

Ms XA pEREs s ao o
X e e
X © worme g
V7 fEdr deiw

Question ID : 955067126
Chosen Option : 4

Q14 s SRS # ST W ATE TS F U7 F gErES & FgRE w1 AR g 82

e X" steeSe 166
X ° HT=EE 167
v © HTiT 164
X7 3e0e 165

Question ID : 955067137
Chosen Option : --

Q15 9w, e 7w & e fTe g g, 9Rae SNRow ¥ e € ¥ g ¥ aRg #
T 9|

Ans XA FTH
<5 FEETRTa
v s
XD'QTIEF

Question ID : 955067133
Chosen Option: 3

Q16 TrffEm & & #iF & Sy B # Ao A F guR w= F§ mag we
e X" o #T8mw (Staph aureus)

v " EafaTE (Rhizobium)

X ¢ wEEafAm (Lugdenenis)

X P Hfgw (Faecium)

Question ID : 955067130
Chosen Option : 2
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Q17 FEAg # foug SyEfawry ARy 1 FoAEg 71 AR {g AR AW S g1 ' e %
FTAR, TREAT 57 e & wEan 87

Ans «Aﬁja.
K5 oy
X © T
XK 0 FEAT

Question ID : 955067132
Chosen Option : 1

O dfdr Fr amer F, NPA 1 o7 w9 37

Ans X" Notable Performing Asset (F12eal SWHITHTT 37ET)
X % Net Performing Asset (7€ SHITET 378T)
X % Null Performing Asset (e STHITHT 378<)
v " Non Performing Asset (Al SRHITET 38T)

Question ID : 955067124
Chosen Option : 4

Q19 RARRT § ¥ FF T TG MRAT T AT 39T F BT ufdg T8 172
Ans xAmmr

X ° FF AR R

K searEs

v 0 afEer

Question ID : 955067138
Chosen Option : 4

D R # ¥ F v R g i o9
Ans «Amﬁ.

X5 \for &=

X C e &

xDmaﬁ.

Question ID : 955067122
Chosen Option : 1
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